

Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2024 IS DECLARED AS UNDER:-

Result Declaration Date: 07-06-2025 Notification No: 1839

AP101: PHYSICS - I

Cr No	Poll No	Name of Student	AP101	CCDV	TC	CCDA	Failed Courses
31.140	HOII NO.	Name of Student	4.00	SGFA	'`	CGFA	railed Courses
1	23/PE/078	ASHISH YADAV	Р	4.90	20	4.90	
2	23/PE/084	PRATEEK KUMAR	Р	5.10	20	5.10	

CE101: BASICS OF CIVIL ENGINEERING

Sr No	Poll No	Name of Student	CE101	SCDV	TC	CCDA	Eailed Courses
31.140	Holl No.	Name of Student	4.00	SGFA		CGFA	railed Courses
3	23/PE/090	SRIVARDANA SABOO	F	5.60	16	5.60	CE101

AM101: MATHEMATICS-I

Sr No	Poll No	Name of Student	AM101	SCDA	TC	CGDA	Failed Courses
31.140	HOII NO.	Name of Student	4.00	SGFA	10	CGFA	railed Courses
4	23/PE/002	AAYAT SHARMA	F	3.00	14	3.00	AM101 VAC6
5	23/PE/030	ISHAN MISHRA	Р	5.30	20	5.30	
6	23/PE/069	TARUSH SONAKYA	F	4.70	16	4.70	AM101
7	23/PE/082	MANIT DORA	F	4.20	16	4.20	AM101

EE105: BASIC ELECTRICAL ENGINEERING-II

OIC (Results) Controller of Examination



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 Notification No: 1839

Sr No	Roll No	Name of Student	EE105	SCDA	TC	CGPA	Failed Courses
51.110	11011 140.	Name of Student	4.00	Jui A		odi A	i alieu oourses
8	23/PE/008	ANKIT DAS	В	6.20	20	6.20	

VAC27: Introduction to Environmental Science

Sr.No	Roll No.	Name of Student	VAC27 2.00	SGPA	тс	CGPA	Failed Courses
9	23/PE/038	LAKHAN DHANGAR	Р	5.90	18	5.90	

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC9: Introduction to Biological Science

Ī	Sr.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	VAC9	SGPA	TC	CGPA	Failed Courses
	31.110	HOII NO.	Name of Student	4.00	4.00	4.00	2.00	2.00	JULA	10	CGFA	i alled Courses
	10	24/B19/024	GARIMA VISHWAKARMA	F	F	Р	B+	Α	2.88	8	2.88	AP101 AM101

AEC15: Public Speaking AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

	Sr.No	Roll No.	Name of Student	AEC15	AM101	AP101	EE105	PE103	SGPA	TC	CGPA	Failed Courses
	31.140	Holl No.	Name of Student	2.00	4.00	4.00	4.00	2.00	JULA	10	CGFA	i alled Courses
l	11	24/B19/037	MOHD SADIK	A+	Р	Α	В	Α	6.63	16	6.63	

AEC4: Business Communication and Presentation Skills AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

OIC (Results)



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 Notification No: 1839

Sr.No	Roll No.	Name of Student	AEC4	AM101	AP101	EE105	PE103	SGPA	TC	CGPA	Failed Courses
31.140	Holl No.	Name of Student	2.00	4.00	4.00	4.00	2.00	SGFA	10	CGFA	i alleu Courses
12	24/B19/055	SATVIK MISHRA	Α	С	B+	Α	A+	7.13	16	7.13	

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC21: Sports II

Sr.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	VAC21	SGPA	тс	CGPA	Failed Courses
31.110	HOII NO.	Name of Student	4.00	4.00	4.00	2.00	2.00	SGFA	10	CGFA	Falled Courses
13	24/B14/057	RUDRA	F	F	F	F	В	0.75	2	0.75	AP101 AM101 EE105 PE103
14	24/B18/056	PRANSHU SHARMMA	0	A+	A+	Α	Α	9.00	16	9.00	
15	24/B18/058	RAAGHAV VERMA	P	С	B+	В	Р	5.25	16	5.25	
16	24/B18/060	RONAK SINGH	С	B+	B+	Α	Α	6.75	16	6.75	
17	24/B19/064	VANSH	F	Р	Р	В	Α	3.75	12	3.75	AM101

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC22: Universal Human Values: I Self-Family

r.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	VAC22	SGPA	TC	CGPA	Failed Courses
 1.140	Holl No.	Name of Student	4.00	4.00	4.00	2.00	2.00	JULA	10	CGFA	i alled Courses
18	24/B18/069	TANISHA SHARMA	Α	A+	Α	Α	B+	8.13	16	8.13	
19	24/B19/069	YADAV AYUSH RAJESH	0	Α	Α	В	Α	8.25	16	8.25	

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC5: Emotional Intelligence

OIC (Results)



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 Notification No: 1839

Sr.No	Roll No.		AM101	AP101	EE105	PE103	VAC5	SGPA	тс	CGPA	Failed Courses
31.110	Holl No.	Name of Student	4.00	4.00	4.00	2.00	2.00	JULA	10	CGFA	i alled Courses
20	24/B19/070	YASH KUMAR	Α	Α	Α	Α	A+	8.13	16	8.13	

AC101 : CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP PRACTICE VAC20 : Sports I

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC20	SGPA	тс	CGPA	Failed Courses
SI.NO	Holl No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	CGPA	railed Courses
21	24/B14/013	ANURAG KASHYAP	С	Р	B+	B+	B+	Α	6.10	20	6.10	
22	24/B14/025	GOURAV MEENA	F	F	Р	Р	B+	A+	3.20	12	3.20	AC101 AM101
23	24/B14/027	HARSH VARDHAN	В	В	Α	B+	A+	B+	7.00	20	7.00	
24	24/B14/032	JIYA SANKHLA	В	Р	A+	B+	Α	A+	6.90	20	6.90	
25	24/B14/034	KESHAV KUMAR	Р	Р	С	С	Α	Α	5.20	20	5.20	
26	24/B14/060	SAURABH CHAUHAN	С	B+	В	В	0	A+	6.70	20	6.70	
27	24/B14/063	SUMIT SAINI	С	F	B+	В	A+	Α	5.30	16	5.30	AM101
28	24/B14/072	VIKRAMADITYA	F	F	F	Р	B+	A+	2.40	8	2.40	AC101 AP101 AM101
29	24/B16/002	AAKASH	С	Р	A+	В	B+	B+	6.20	20	6.20	

AC101: CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II PE103: WORKSHOP PRACTICE VAC13: Negotiation & Leadership

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC13	SGPA	TC	CGPA	Failed
31.140	Holl No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	CGFA	Courses

OIC (Results)

Controller of Examination

Note:Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 Notification No: 1839

	30	24/B16/010	ABHIJYORTH SAXENA	В	В	A+	Α	B+	Α	7.30	20	7.30	
--	----	------------	-------------------	---	---	----	---	----	---	------	----	------	--

AC101: CHEMISTRY AEC10: German AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

Sr.No	Roll No.	Name of Student	AC101	AEC10	AM101	AP101	EE105	PE103	SGPA	тс	CGPA	Failed Courses
31.140	Holl No.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	SGFA	10	CGFA	Failed Courses
31	24/B14/023	EKANSH MALHOTRA	С	0	В	F	B+	A+	6.70	20	6.70	
32	24/B14/081	LOHITAKSH SINHA	С	Α	В	Α	A+	B+	7.10	20	7.10	
33	24/B16/017	ADARSH	Р	A+	С	B+	B+	B+	6.20	20	6.20	

AC101 : CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP PRACTICE VAC16 : Professional Ethics & Human Values

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC16	SGPA	тс	CGPA	Failed
31.110	HOII NO.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JGFA	'C	CGFA	Courses
34	24/B08/008	PANKAJ MAURYA	В	В	Α	A+	Α	0	7.60	20	7.60	

AM101: MATHEMATICS-L AP101: PHYSICS - L FE105: BASIC FLECTRICAL ENGINEERING - IL PE103: WORKSHOP PRACTICE VAC16: Professional Ethics & Human Values

Sr.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	VAC16	SGPA	TC	CGPA	Failed Courses
SI.NO	Holl No.	Name of Student	4.00	4.00	4.00	2.00	2.00	JGFA	'	CGFA	Falled Courses
35	24/B18/012	AMAN VATS	B+	A+	B+	Α	Α	7.75	16	7.75	

OIC (Results)

Controller of Examination



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 **Notification No: 1839**

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

Sr.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	SGPA	тс	CGPA	Failed Courses
	HOII NO.	Name of Student	4.00	4.00	4.00	2.00	JUPA	10	CGFA	railed Courses
36	24/B18/015	ANSH BANSAL	Α	A+	A+	Α	8.57	14	8.57	

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC12: NCC

Sr.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	VAC12	SGPA	тс	CGPA	Failed Courses
31.110	HOII NO.	Name of Student	4.00	4.00	4.00	2.00	2.00	JUFA	10	CGFA	Falled Courses
37	24/B18/026	BANOTHU SRAVANI	F	F	B+	A+	С	4.75	12	4.75	AM101

AEC21: Tinkering Studio & Elements of Design AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

Sr.No	Roll No.	Name of Student	AEC21	AM101	AP101	EE105	PE103	SGPA	TC	CGPA	Failed Courses
	HOII NO.	Name of Student	2.00	4.00	4.00	4.00	2.00	SGFA	10	CGFA	railed Courses
38	24/B18/028	DARPREET SINGH	B+	F	Α	Α	B+	5.75	12	5.75	AM101

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC20: Sports I

		•17 (11112101) (111		0	0.0,1010		, te e. to t				01101 110	to hot who to hote h
	Sr.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	VAC20	SGPA	тс	CGPA	Failed Courses
	31.140	11011110.	Name of Student	4.00	4.00	4.00	2.00	2.00	3GFA	10	CGFA	i alleu Courses
	39	24/B18/031	HARDIK GOEL	F	F	F	F	С	0.63	2	0.63	AP101 AM101 EE105 PE103
Ī	40	24/B18/077	YASH BHARTI	F	С	В	Α	F	4.25	12	4.25	AM101

OIC (Results)



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 **Notification No: 1839**

41	24/B18/078	YASH GUPTA	P	B+	В	A+	Α	6.38	16	6.38	

AEC25: Entrepreneurship Development AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

Sr.No	Roll No.	Name of Student	AEC25	AM101	AP101	EE105	PE103	SGPA	TC	CGPA	Failed Courses
31.110	HOII NO.	Name of Student	2.00	4.00	4.00	4.00	2.00	JUPA	10	CGFA	Falled Courses
42	24/B18/044	MANIT VIG	A+	0	0	0	A+	9.75	16	9.75	

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC27: Introduction to Environmental Science

Ī	Sr.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	VAC27	SGPA	TC	CGPA	Failed Courses
	31.110		Name of Student	4.00	4.00	4.00	2.00	2.00	JUPA	10	CGFA	railed Courses
Ī	43	24/B18/064	SHUBHAM SINGH	В	B+	Α	Α	С	6.88	16	6.88	

AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC11: Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AM101	AP101	EE105	PE103	VAC11	SGPA	TC	CGPA	Failed Courses
31.110	Holl No.	Name of Student	4.00	4.00	4.00	2.00	2.00	JGFA	'	CGFA	railed Courses
44	24/B18/073	VANSH JAIN	Α	A+	A+	B+	B+	8.25	16	8.25	

AC101 : CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP PRACTICE VAC19 : Science & Practice Of Happiness

OIC (Results)



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 **Notification No: 1839**

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC19	SGPA	TC	CGPA	Failed
31.140	Holl No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	SGPA	10	CGPA	Courses
45	24/B14/001	AADIT JAIN	С	Α	B+	Α	Α	Α	7.20	20	7.20	
46	24/B14/017	AYUSH THUKRAL	С	Р	Α	Α	B+	В	6.30	20	6.30	
47	24/B14/035	KETAN PAL	С	Р	Α	B+	В	В	6.00	20	6.00	

AC101 : CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP PRACTICE VAC27 : Introduction to **Environmental Science**

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC27	SGPA	тс	CGPA	Failed
31.140	Holl No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA	10	CGFA	Courses
48	24/B14/002	AAKRITI TANDON	A+	B+	0	A+	0	0	9.00	20	9.00	
49	24/B14/021	DHEERAJ YADAV	B+	Р	B+	В	A+	0	6.70	20	6.70	
50	24/B14/024	GAURAV YADAV	В	Р	0	Α	0	A+	7.50	20	7.50	
51	24/B14/037	KRISH KUMAR SAINI	С	Р	Α	B+	Α	A+	6.50	20	6.50	
52	24/B14/039	KUVLAY NAMAN	С	B+	В	B+	B+	В	6.30	20	6.30	
53	24/B14/042	MAYANK	F	F	В	С	0	Α	4.00	12	4.00	AC101 AM101
54	24/B14/052	RISHABH KUMAR	F	С	Р	С	B+	Р	3.90	16	3.90	AC101
55	24/B14/064	SUYASH	С	В	Α	B+	Α	B+	6.70	20	6.70	

AC101: CHEMISTRY AEC4: Business Communication and Presentation Skills AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II PE103 : WORKSHOP PRACTICE

OIC (Results)



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 Notification No: 1839

	Roll No.	Name of Student	AC101	AEC4	AM101	AP101	EE105	PE103	SGPA	тс	CGPA	Failed
	Holl No.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JULA	'0	CGFA	Courses
56	24/B14/003	AANYA GUPTA	Α	A+	A+	0	A+	0	9.10	20	9.10	

AC101: CHEMISTRY AEC18: Spoken Skills in English AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

Sr.No	Roll No.	Name of Student	AC101	AEC18	AM101	AP101	EE105	PE103	SGPA	тс	CGPA	Failed
31.140	Holl No.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	SGFA	10	CGFA	Courses
57	24/B14/004	ABHISHEK KUMAR SHARMA	B+	A+	С	A+	B+	A+	7.40	20	7.40	
58	24/B14/010	AMAN KUMAR REWADIA	F	B+	F	В	Р	Α	3.50	12	3.50	AC101 AM101

AC101: CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	SGPA	тс	CGPA	Failed Courses
31.110	HOII NO.	Name of Student	4.00	4.00	4.00	4.00	2.00	SGFA	-	CGFA	Falled Courses
59	24/B14/008	AKSHIT VASHISHT	F	Р	С	С	С	3.67	14	3.67	AC101

AC101 : CHEMISTRY AEC25 : Entrepreneurship Development AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP PRACTICE

Sr.No	Roll No.	Name of Student	AC101	AEC25	AM101	AP101	EE105	PE103	SGPA	тс	CGPA	Failed
31.140	HOII NO.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	SGFA	'	CGFA	Courses
60	24/B14/014	ARNAV AGRAWAL	В	Α	0	Α	Α	A+	8.10	20	8.10	

OIC (Results)

Controller of Examination

Note: Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 Notification No: 1839

AC101 : CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP PRACTICE VAC9 : Introduction to Biological Science

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC9	SGPA	TC	CGPA	Failed Courses
31.140		Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	CGFA	railed Courses
61	24/B14/015	ARNAV SINGH	F	F	В	P	B+	Р	3.10	12	3.10	AC101 AM101
62	24/B14/054	RITIK	С	F	B+	В	B+	В	4.90	16	4.90	AM101
63	24/B14/079	MAYANK PARASHAR	Α	Α	0	Α	A+	Α	8.50	20	8.50	

AC101 : CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP PRACTICE VAC6 : Extension Outreach Activities

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC6	SGPA	TC	CGPA	Failed
31.110	Holl No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	SGPA	10	CGPA	Courses
64	24/B14/016	ARYAN PANWAR	P	Р	В	С	B+	A+	5.40	20	5.40	

AEC18: Spoken Skills in English AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE

Sr.No	Roll No.	Name of Student	AEC18	AM101	AP101	EE105	PE103	SGPA	TC	CGPA	Failed Courses
31.140	Holl No.	Name of Student	2.00	4.00	4.00	4.00	2.00	JUPA	10	CGFA	railed Courses
65	24/B14/020	DEEPAK KUMAR	F	F	F	F	F	0.00	0		AP101 AM101 EE105 PE103 AEC18

AC101 : CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP PRACTICE VAC3 : Corporate Social Responsibility

OIC (Results) Controller of Examination



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 **Notification No: 1839**

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC3	SGPA	TC	CGPA	Failed
31.140	Holl No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	CGFA	Courses
66	24/B14/022	DHRITI GARG	A+	0	0	A+	0	0	9.60	20	9.60	
67	24/B14/045	NISCHAL DEEP	Α	Α	Α	Α	Α	Α	8.00	20	8.00	
68	24/B14/059	SAKET KUMAR SINGH	В	Α	Α	Α	0	B+	7.70	20	7.70	

AC101: CHEMISTRY AEC15: Public Speaking AM101: MATHEMATICS-I AP101: PHYSICS-I EE105: BASIC ELECTRICAL ENGINEERING-II PE103: WORKSHOP **PRACTICE**

	Sr.No	Roll No.	Name of Student	AC101	AEC15	AM101	AP101	EE105	PE103	SGPA	тс	CGPA	Failed Courses
	Sr.No	HOII NO.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	SGFA	10	CGFA	railed Courses
Ī	69	24/B14/029	HITESH RAJ	С	A+	F	В	С	Α	4.90	16	4.90	AM101

AC101: CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC11: Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC11	SGPA	TC	CGPA	Failed Courses
31.140			4.00	4.00	4.00	4.00	2.00	2.00	JGFA	'C	CGFA	i aneu Oourses
70	24/B14/033	KARTIK	С	F	Α	В	B+	Р	4.90	16	4.90	AM101
71	24/B14/048	PRAKRITI	F	F	P	Р	Α	Р	2.80	12	2.80	AC101 AM101
72	24/B14/051	RAHIL MEHTA	B+	B+	Α	Α	0	В	7.60	20	7.60	
73	24/B14/069	UTKARSH KAPOOR	Р	Р	F	В	A+	B+	4.40	16	4.40	AP101

Controller of Examination

OIC (Results)



(Formerly Delhi College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2024 IS DECLARED AS UNDER:-

Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 **Notification No: 1839**

EE105: BASIC ELECTRICAL ENGINEERING -II VAC11: Leadership Through Self-Management

	Sr.No	Poll No	Name of Student	EE105	VAC11	SCDA	тс	CCDA	Failed Courses	
		HOII NO.	Name of Student	4.00	2.00	SGFA	' '	CGFA	railed Courses	
	74	24/B14/036	KRESHIV GULATI	F	F	0.00	0		EE105 VAC11	

AC101 : CHEMISTRY AEC3 : Appreciation of Short Stories AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II PE103 : WORKSHOP **PRACTICE**

Sr.No	Roll No.	Name of Student	AC101	AEC3	AM101	AP101	EE105	PE103	SGPA	TC	CGPA	Failed
31.110			4.00	2.00	4.00	4.00	4.00	2.00	JGFA	10	CGFA	Courses
75	24/B14/040	LAKSHAY GAHLOT	В	Α	Р	B+	B+	0	6.60	20	6.60	
76	24/B14/049	PRIYANSHU UPADHYAY	В	Α	Р	В	B+	A+	6.30	20	6.30	
77	24/B14/068	UTKARSH GOYAL	С	Α	Р	Α	B+	A+	6.50	20	6.50	

AC101: CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC30: Yoga

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC30	SGPA	тс	CGPA	Failed Courses
31.140			4.00	4.00	4.00	4.00	2.00	2.00	SGFA	'C	CGFA	
78	24/B14/043	MOHIT SINGH	F	Р	F	Р	A+	Α	3.30	12	3.30	AC101 AP101
79	24/B14/077	RUDRA BAHAL	С	В	A+	B+	B+	A+	7.00	20	7.00	
80	24/B14/078	PRATHAM SEHGAL	P	Р	B+	B+	Α	B+	5.90	20	5.90	
81	24/B14/080	MANISH JOSHI	С	В	Α	Α	Α	Α	7.00	20	7.00	

OIC (Results) Controller of Examination



Bachelor of Technology(Production & Industrial Engineering), I-SEMESTER

Result Declaration Date: 07-06-2025 **Notification No: 1839**

AC101: CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP PRACTICE VAC22: Universal Human

Values: I Self-Family

Sr.No	Roll No.	Name of Student	AC101	AM101	AP101	EE105	PE103	VAC22	SGPA	TC	CGPA	Failed
			4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	CGFA	Courses
82	24/B14/046	NITESH KUMAR YADAV	F	С	B+	B+	Α	В	5.20	16	5.20	AC101

AC101: CHEMISTRY AEC13: Logical Reasoning AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP **PRACTICE**

C: No	Dall Na	Name of Student	AC101	AEC13	AM101	AP101	EE105	PE103	CODA	тс	CGPA	Failed
Sr.No	Roll No.		4.00	2.00	4.00	4.00	4.00	2.00	SGPA			Courses
83	24/B14/058	SABHYAM KUMAR SINGH	F	С	Р	Р	Р	В	3.50	16	3.50	AC101

AC101: CHEMISTRY AEC20: Sketching & Rendering AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING - II PE103: WORKSHOP **PRACTICE**

	Sr.No	Roll No.	Name of Student	AC101	AEC20	AM101	AP101	EE105	PE103	SGPA	TC	CGPA	Failed Courses
31.110	31.110			4.00	2.00	4.00	4.00	4.00	2.00	SGPA	'		
	84	24/B14/074	VIPUL KUMAR SHAH	F	B+	Р	F	F	В	2.10	8	2.10	AC101 AP101 EE105

OIC (Results) **Controller of Examination**